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library ieee;
use icee.std logic 1164.all;

entity testl var is
port(CLK ,din:in std logic;
Dout: out std logic);
end;

architecture arc of testl var is

signal g: std logic vector(S downto 0);
begin

process (clk)

begin
if clk'event and clk='1"' then
g(0)<=din;
for i in 1 to 8 loop
q(i)<=q(i-1);
end loop;
end if;

dout<=q(8) ;
end process;
end;
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g(0)<=din;

q(1)<=q(0);
q(2)<=q(1);
q(3)<=q(2);
q(4)<=q(3);
q(5)<=q(4);
q(6)<=q(5);
q(7)<=q(6) ;
q(8)<=q(7);
dout<=g(8) ;
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library ieee;
use icee.std logic 1164.all;

entity test2 var is
port(CLK ,din:in std logic;
Dout: out std logic);
end;

architecture arc of test2 var is
begin
process (clk)
variable g: std logic vector(8 downto 0);

begin
if clk'event and clk='1l' then
q(0) :=din;
for i in 1 to 8 loop
a(i) :=q(i-1);
end loop;
end if;

dout<=q(8) ;
end process;

end;
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q(0) :=din;

a(l) :=q(0);

a(2) :=q(1);

a(3):=q(2);

a(4) :=q(3);

g(5) :=q(4); = dout (g(8)) <=din;
a(6) :=q(5);

a(7) :=q(6);

a(8) :=q(7);

dout<=q(8) ;
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library ieee;
use icee.std logic 1164.all;

(1 7v 8-n NX7170 170) variable nanwna win'y — 3 nnaiT

entity test3 var is
port(CLK ,din:in std logic;
Dout: out std logic);

end;

architecture arc of test3 var is

begin

process (clk)
variable g: std logic vector(8 downto 0);

begin
if clk'event and clk='1l' then
g (0) :=din;
for i in downto loop
q(i) :=q(i-1);
end loop;
end if;

dout<=qg(8) ;
end process;

end;
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o din bit 1
= Dout bit 1 I
B=q BIT_VEC..| 1FF N T G I A L
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g(0) :=din;
a(8) :=a(7);
a(7) :=q (o) ;
qa(6) :=q(5);
a(5) :=q(4);
qa(4) :=q(3);
a(3) :=a(2);
a(2) :=a(l);
a(l) :=q(0);

dout<=q(8) ;
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